
1.Gather and organize all required parts before assembling.
2.Assemble cabinet on a flat, clean surface.
3.Two or more people are required for assembly.
1. Alle benötigten Teile vor dem Zusammenbau zusammensuchen und organisieren.
2. Montieren Sie den Schrank auf einer ebenen, sauberen Fläche.
3. Für den Zusammenbau werden zwei oder mehr Personen benötigt.
1. Rassembler et organiser toutes les pièces nécessaires avant de les assembler.
2. Assemblez l'armoire sur une surface plane et propre.
3. Il faut au moins deux personnes pour le montage.
1. Raccogliere e organizzare tutte le parti necessarie prima dell'assemblaggio.
2. Assemblare il mobile su una superficie piana e pulita.
3. E’ necessario due o più persone per l'installazione.
1. Reúna y organice todas las piezas necesarias antes del montaje.
2. Monte el armario en una superficie plana y limpia.
3. Se necesitan dos o más personas para el montaje.

"IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY"
German: WICHTIG, FÜR SPÄTERE NACHSCHLAGE AUFBEWAHREN: SORGFÄLTIG LESEN
Spanish: IMPORTANTE, GUARDAR PARA REFERENCIA FUTURA: LEER ATENTAMENTE
Italian: IMPORTANTE, CONSERVARE PER RIFERIMENTI FUTURI: LEGGERE ATTENTAMENTE
French: IMPORTANT, À CONSERVER POUR RÉFÉRENCE FUTURE : LIRE ATTENTIVEMENT





A1-1

A1-2

A1-3

A1-4
A2-1

A2-1

A2-2

A2-2

A3-1

A3-1

A3-2

A3-2

A4

A4

A5-1

A5-2

A5-1

A5-2

A6-1

A7-1

A7-2

A6-2

A8-1

A8-2

A9

A10-1

A10-2

A10-2

A10-1

A11-1

A11-2

A12

B3

B3

B3

B3

B3

B3

B3

B3

B3

B4

B4

B4

B4

B4

B4

B4

B4B5

B5

B6-1

B6-1

B6-1

B6-1

B6-2

B6-2

B1

B1

B1

B1 B2

B2

B2

B2

B7-1

B7-1

B7-2

B7-2B8

B8

A13

A13

A13

A13

A14

A14

A15

A16

A16

A16

A16

A16

A16

A16

B3

A16

A17

A17

A17

A17

A18

A18

A19

A19

A19

A19

A20-1

A20-2

A21

A21

A22

A22

A23-1

A23-2

A23-3

A23-3

B11

B11

A30

A30

A30

A30

A31

A31

A32

A27

A27

A27

A27

A24

A24

A24

A24



A

2

A1-3

X1

A1-4

X1

A2-1

X2

A2-2

X2

A3-1

X2

A3-2 A4

X2
A5-1

X2

A5-2

X2

A6-1

X1

A6-2

X1

A7-1

X1

A7-2

X1

A8-1

X1

A8-2

X1
60° 60°

A9

X1

A10-1

X2

A10-2

X2

A11-1

X1
60° 60°

A11-2

X1

A12 A13

X4

A15

X4

A16

X8

A17

X1

A19

X2

A23-1 A23-2

X2

A23-3

X4

A24

A1-1 A1-2

X1
A14

X2 X2

A18

X4

A20-1 A20-2

X1 X1

A21 A22

X1

X2

X1 X2

A25

X1 X1X1

X4



X8X8

A26 A27 A28

X4

3

H1

X4

H2

X2

H3

X2

H5

X2

H6

X22

H7

X24

H8

X68

H9

X30

H10

X24

H11

X4

H12

X4

H13

X16

H14

X1

H15

X1

H16

X1

H17

X2

M6x30

M6x20

M6x12

4x8

4x10

5x10 5x16

M6

H18

X4

H19

X2

H21

H22 H23
X4

4x16
X2 X2

M4X40

A29

X2

A30

X4

A31 A32

X2 X1

A33

X2

H25

X12

H24

X2
M5*20

H26

X2



B

B1 4PCS

8PCS

B2 4PCS

B3 10PCS

B4

B7-1 2PCS

B7-2 2PCS
B7-1 B7-2

B8 2PCS

B11 2PCS

4

B5 2PCS

B6-1

B6-2

4PCS

2PCS



A1-1

A2-1

A2-2
A2-2

A2-1

1

2

A1-2

A1-4

A1-3

A24

A24

A24

A24

5

1

H6

X16
M6x30

H9

X16

M6

H1

X4

H8

X8
M6x12

2

H8
(X8)

H6
(X16)

H9

(X16)

A28

(X4)



6

60

30

a

b
or



6

B1

B1

A5-1

A5-2

A5-1

A5-2A5-2

A5-1 3 A5-2

A8-1

A8-2

4
B1

5 B1
A8

H8

X4
M6x12

A5-1

A5-2

H8



7

H8

X6
M6x12

H2

X1

H3

X1

6A13

8 9
B7-1 B7-2

A13

A13A9

A6-1

A6-2

B7-1

B7-2

6

67
8

9

10

10

67
7

677

L2

L2

L1

L1

L2=L1

7
A9

H2

H3
H2

A6-2

A6-111



8

12
B1

13 B1
A11-1

B1

B1

A11-2

A11-1

A12

B2

B2

H8

X4
M6x12 11

B8

B7-1

B7-2



14

H8

X10
M6x12

H2

X1

H3

X1

A13

B2

B2

A7-1
16

A7-2
16

15

A15

A13

A13

A15

67
5

675

L1

L1

L2

L2

L2=L1

A14

A14

9

H2

H3
H2

A7-2

A7-116

B2
B2



H8

X4
M6x12

17

18

B7-1

B7-2

B8

B7-2

B7-1

10

19 20

H6 H18

H17

X4

H6

X4 X8
M6x30 M6x20

H18 H9

X12

M6

A31A32

A3-1

A3-2

A4

A4

B5

A4
21H17

H17

B11

(X2)

(X4)



22

H12

X45x10

H6

(X2)
23

H12

(X4)

11

H6

X2
M6x30

H9

X2

M6

23
22

23

B11

B11

A4

A3-1

A3-2

A3-1

A3-2



12

24
B3

25

B3

A16

B3

B3

24

B3

B3

B3

B3

B3
A16

(X8)

B3

B3

B3

B3
B3

25



13

26

B4

27

B4

A10(A17)

H8

X4
M6x12

28
A10-2

A10-1

A18

A10-1

A10-2

29

H8

H8

B4

B4

B4

B4

B4

B4

B4

B4

A18

(X2)

B5

B5

A17

(X4)



H11

X44x8

14

A33

X2

H16

X2

32

30

H11H11

B11

31
33

A18

H23

M4X40
H23

X2

A33

H17

(X4)



H8

X2
M6x12

H22

4x16
X2

35

35

34

34

35

H8 H8

15

YES

H21

X2

A20-1

A20-2

H22



16

H10

X16
4x10

B6-1

B6-2

B6-1

A21

A22

A23-3

A19

A23-1 37

37

39

38

B6-1

B6-2

B6-1

36

38

39

A23-3
A23-2

A21

A22

B6-1

B6-2

B6-1

37

A19

39

38



H21

X2

41

40

40

41

42

17

42 42

H8

X2
M6x12

H24

X2
M5*20

H24

H21

H8

A29

43

43

H26
(X2)



H13

X165x16

H10
H10

44 45

A27
A27

H5

X2

H10

X8
4x10

H19

X2

46
H13

47

H19

A2748

18

45

44

45

44

47

A27

47

46

A27

46

46

46



19

H18

X16
M6x20

A28

A3

49

A28

A2

A8
A11

A1

A28

A28

A2849

A28
49

A2849

A28

49



20

A25

A26

X4

X8

51

52 53

50

H8

X24
M6x12

30°

30
°

H25

X12

H25

50

52

51

A26 A26

H8

H8

H8

H8

A25

H8 H8

53


